



ABOUT US

Welcome to the Billionaires Club — where dreams turn into destinations and success becomes a lifestyle.

This is not just a community — it's a movement of achievers, travellers, and visionaries creating wealth while exploring the world.

Here, every member is not just earning — they're living a life of abundance and prestige

STORY OF BILLIONAIRES CLUB

Once, success was a dream for the few. But a new era began — where helping others became the key to unlocking abundance.

Billionaires Club was born with a mission: to turn giving into growing. Built on the world's most trusted digital currency, this platform ensures 100% transparency, security, and instant rewards

Here, every level you rise represents progress, prosperity, and purpose. It's not just a plan — it's a **movement** where every member becomes a leader, every helping hand becomes a step toward success, and every contribution writes a new billionaire story



Our Vision

To create a global community where every individual can achieve financial independence through unity, trust, and smart digital wealth systems.

We envision a world where helping others becomes the path to becoming a billionaire — in mindset, mission, and money — powered by digital currency, transparency, and blockchain technology

Our vision is not just to build wealth, but to build a legacy of financial freedom, respect, and contribution.

Our Mission

BILLIONAIRES CLUB

To empower one million members worldwide to grow financially and spiritually through a simple, fair, and transparent Digital Currency -based helping plan.

Our mission focuses on:

- Helping Culture: Build a strong network where helping one another brings growth for all.
- Smart Digital Earnings: Create a secure and automated Digital Currency-based system for both passive and active income.
- 3. Global Reach: Unite dreamers and achievers under one digital roof.
- 4. Recognition & Rewards: Honour every achiever who uplifts others and contributes to the vision.
- Financial Freedom: Transform ordinary people into extraordinary earners through ethical and sustainable wealth growth.
- ♦ In Billionaire Club, your journey begins with helping and ends with freedom.

Membership Donation





\$120

Welcome Bonus

- When you activate your package with \$120, you will receive an instant Welcome Bonus worth \$120
- This bonus can be used to invite new members to your team



Types of Bonus

- 1 Referral Bonus
- 2 Level Bonus
- 3 Re Donation Bonus
- 4 Club Bonus
- 5 Rank & Reward

www.billionaireclub.world

Referral Bonus

\$50

*When you refer any person, you will get instant Donation \$50 each



Level Bonus

LEVEL	DIRECT	BONUS	
Level 1	1 Direct	\$50	
Level 2	2 Direct	\$3	
Level 3	3 Direct	\$3	
Level 4	4 Direct	\$3	
Level 5	5 Direct	\$3	
Level 6	6 Direct	\$3	
Level 7	7 Direct	\$3	
Level 8	8 Direct	\$3	
Level 9	9 Direct \$3		



How to become **Billionaire**



LEVEL	POSITIONS	BONUS / POSITION	TOTAL BONUS	
1	5	\$50	\$250	
2	25	\$3	\$75	
3	125	\$3	\$375	
4	625	\$3	\$1,875	
5	3,125	\$3	\$9,375	
6	15,625	\$3	\$46,875	
7	78,125	\$3	\$234,375	
8	390,625	\$3	\$1,171,875	
9	1,953,125	\$3	\$5,859,375	

Ex: 5x5 Matrix

Total Bonus: \$7,324,450

Re-Donation **B** on us



After getting your \$250 working bonus, you'll need to re-donate \$50. \$25 goes to your next upline, and \$25 goes to the club fund.





Example Re Donation Bonus by **5×5 matrix**



MEMBERS	\$25 x Members Income (USD)	
5	5x25	\$125
25	25x25	\$625
125	125x25	\$3,125
625	625x25	\$15,625
3,125	3125x25	\$78,125
15,625	15,625x25	\$390,625
78,125	78,125x25	\$1,953,125
390,625	390,625x25	\$9,765,625
1,953,125	1,953,125x25	\$48,828,125

Ex: 5x5 Matrix

Total Bonus: \$61,029,125

Club Membership Bonuses





A Co founder

B Founder

Trustee Founder

Club Membership B o n u s e s

A Co founder

DIRECT	DONATION	CAPPING
10	\$1000	4X

Reward: 1 National Tour Bonus: Cashback.

*T&C apply: 20% of club bonus equally distributed to co-founders.



\$ 1000



- To is qualify for required Co Founder Bonus, a donation of \$1000 along with 10 direct is required.
- If Co you do Founder not have status by the full making a funds self available, self - investment you of \$120 and successfully still and adding 5 Co Founders.

Club Membership Bonuses

B Founder

DIRECT	DONATION	CAPPING
10	\$2500	5X

Reward: 1 National Tour + International Tour Bonus: Cashback

*T&C apply: 40% of club bonus equally distributed to founders.



\$ 2500



- To is qualify for Founder Bonus, a donation of \$2500 along with 10 direct is required.
- If you do not have the full funds available, you can still achieve founder status by making a self - investment you of \$120 and successfully still and adding 5 Founders.

Club Membership Bonuses



\$ 2500



 To qualify for Trustee Bonus, a donation of \$2500 along with 5 founders is required.

www.billionaireclub.world

C

Trustee founder

DIRECT	DONATION	CAPPING
10	\$2500	Unlimited

Reward: 1 National Tour + 2 International Tour Bonus: Cashback.

*T&C apply: 40% of club bonus equally distributed to Trustee founders.

Rank & Reward

DIRECT	FOUNDER FIRST LEG	FOUNDER SECOND LEG	FOUNDER OTHER'S LEG	REWARD
Bronze Star	5	5	5	\$ 1,000
Silver Star	15	15	15	\$ 3,000
Golden Star	50	50	50	\$ 15,000
Platinum Star	100	100	100	\$ 25,000
Diamond Star	300	300	300	\$ 50,000
Crown Star	500	500	500	\$ 150,000
Royal Star	1000	1000	1000	\$ 500,000



*T&C apply.

_{Key} Features

- No withdrawal charges
- Instant distribution
- High possibilities of earning
- Minimum withdrawal \$10
- ❖ No leg maintain compulsion
- Live Luxury with us.
- Become a Trustee of our Club and unlock exclusive Luxury Bonuses.







THANKYOU

FOR YOUR ATTENTION FOR MORE INFORMATION CONTACT US









